Math 240 - Quiz 1 Name \(eg
August 24, 2023 Score

Show all work to rcecive full credit. Supply cxplanations when necessary. This quiz is duc
Angust 29.

1. (4 points) State whether each equation is ordinary or partial, linear or nonlinear, give
its order, and say which variable is dependent.

d
(a) d—Z: = kp(Py — p)-= k?o?' \(Pa

Ocmwmts) Non\L\wwe \Svomwa) den, VAR, \3 \P

(b) 8 @ =xz(l —x)

dz?

. OQDWMS) Linaae, \'\TH oRDYe, DT VAZ. \3 \4

ON 0*N 10N
- -2 ‘N
(c) ot Oor? * r Or RN

PacTiaL, Linuar, a“bmmb DER. VAR \S N

—d’z dx
(d) \/1—$—d—§+2ta‘{—0

O‘abwmao NON\\NGAR 3“om% DER. VAR, W X

2. (2 points) Show that z%y + y? = c is an implicit solution of 2zy dx 4 (x% + 2y) dy = 0.
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3. (3 points) Solve the initial valuc problem: d—y =1 y(3) =1In8
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4. (1 point) This problem may be challenging so it’s only worth one point. _

Find a differential equation for the family of circles passing through the origin
with centers on the line y = z.

Your final answer should contain only z’s and y’s. no other parameters or constants.
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